3+0=

L+ 2
g

2+1

5+0=

2-2=
2+3

D=

4-2=
4+1

2-2=
3+2

1+1= =



ooooooooog g

]
N

)
OO T M AN I N 6
| |

rF 1 1 1 1 1
IO WM< AN I T

oot

)
O M T M <™= < M N _u;_-___-v
|

P 1 1 1 1 1
<t OO WML LWLW

Doogddodoon

n
<r
i
<r

0
=T O AN MW O m;____-w

[ D N D R D
O <IN I WS

Dooodgooon

]
N
|
N

(| N | I | I | I | I | O | I | R

O T T O IO NON u_‘-___-ﬁ
N R R D D A |

AN M T MU M ~— O

oobododn

Hn nnn nnnnn
OO W AN ™ LO
+ 1 1 4+ 4+ | + 1 |1
NN~ AN S<TLOOM

OO OobooOooon

m mn n n nmn o nn
NON< T O NN <
I + 4+ | 4+ 4+ 4+ 1 1
<SSO NI OO <F

ODodoododd

n o o n mnmmnwonnn
O T M MOO MANM
M1 1 1 4+ 4+ 1 + |
NO < MO —~<T NW

DOodoodooad

i o n n o nmonnn
O T T (NO L M ™
+ | 4+ 1 4+ |1 I + <+
MO MO M ML LW N



0+5=

_1+4=

4+1

D -I3I=

5-3=

D0

| [ 0*+5=

1+4=

5—4=
3+2

D=
3+12

4+1

— 2+3=

3+2

| [ 2+ 3=



